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Similarly for wqHurts
C- wok)x(3re)=-3=4Brigida : To = VI. + WJXTE .
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Furthermore
, NT = wsxrap

Acceleration To get better intuition let's

Consider rolling on the inside of a cirular curve
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General situation :
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p is the radius
Note : This is

of curvature of the

sent + ⇐ ,
En surface at point A .

We can now use the rigid body Formula to

compute the accelerations anywhere on the disc
.

Let's look at contact point A :

8s= Ectxxrn - circa
= #+gY÷En+Kk#Ere ) - wztren )

=g¥ei+riei=ffT÷¥
no tangential
component !


